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QUESTION 1

An engineer must reduce the amount of inter-controller roaming at a facility that has deployed N+1 high availability.
Which strategy for performing this action is the best? 

A. Ensure all access points on the campus are configured with the same mobility group. 

B. Disable interface groups on the SSID. 

C. Ensure all access points in a geographic location are configured with the same primary WLC. 

D. Enable client load balancing on the SSID. 

Correct Answer: C 

 

QUESTION 2

An engineer wants to configure WebEx to adjust the precedence and override the QoS profile on the WLAN. Which
configuration is needed to complete this task? 

A. Change the AVC application WebEx-app-sharing to mark 

B. Create an ACL for WebEx. 

C. Change the WLAN reserved bandwidth for WebEx. 

D. Create an AVC profile for WebEx marked with a lower DSCP value 

Correct Answer: A 

References: http://www.cisco.com/c/en/us/td/docs/wireless/controller/technotes/7-5/AVC_dg7point5.html 

 

QUESTION 3

You have just added a new MSE to Prime Infrastructure and want to synchronize the MSE with your 5508 WLC. which
is located behind a firewall in a DMZ. You notice that NMSP messages are failing between the two devices. What traffic
needs to be allowed on the Firewall to ensure the MSE and WLC can communicate using NMSP? 

A. UDP 16113 

B. TCP 1613 

C. TCP 16113 

D. UDP 1613 

Correct Answer: C 

References: http://www.cisco.com/c/en/us/support/docs/wireless/5500-series-wireless-controllers/113344-cuwn-
ppm.html 
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QUESTION 4

Which two methods to discover a controller does a MAP attempt when it boots up? (Choose two.) 

A. If Ethernet and wireless are available, it attempts to discover only via Ethernet. 

B. If Ethernet is disconnected, it attempts to connect wirelessly using AWPP. 

C. If only wireless is available and it is configured as a MAP, it does not attempt to connect to a WLC. 

D. If Ethernet and wireless are available, it uses Ethernet first. If it cannot connect via Ethernet, then it chooses
wireless. 

E. If Ethernet is disconnected, it attempts to connect wirelessly using the configured DHCP option. 

Correct Answer: AB 

References: http://www.cisco.com/c/en/us/td/docs/wireless/controller/7-3/configuration/guide/b_cg73/b_wlc-
cg_chapter_01001.html 

 

QUESTION 5

An engineer has found that voice traffic on the WLAN with ID XXXXXXXXX is being sent at best effort from a client that
is experiencing issues despite having QoS and CAC enabled. Which option causes the traffic to be sent at best effort? 

A. The QoS profile for Platinum has been left at default settings. 

B. The client does not support TSPEC. 

C. WMM is configured as required. 

D. msl qos trust cos is not configured on the switchport. 

Correct Answer: B 

 

QUESTION 6

A company has a small open plan office with 400 user devices. You have implemented a high-density deployment of
Cisco Aironet 3600 Access Points with an AC radio module installed. After performing a post wireless survey you notice
a high amount of channel utilization and co-channel interference of the 5GHz band. You decide to implement RxSOP
using the pre-created threshold templates on the Cisco WLC and set it to HIGH. You perform another survey and the
results are the same as before. 

Which description of the issue is true? 

A. CleanAir is not enabled. 

B. Enable high density on the 5 Ghz band. 

C. You must use external patch antennas. 
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D. RxSOP is not supported on a third pluggable radio module on a Cisco Aironet 3600 AP. 

Correct Answer: D 

Reference: https://www.cisco.com/c/en/us/td/docs/wireless/controller/8-3/config-
guide/b_cg83/b_cg83_chapter_011100.html 

 

QUESTION 7

A security engineer wants all guest users to be terminated in the DMZ of their firewall. Which two configurations must be
implemented to fulfill this new requirement? (Choose two.) 

A. TCP port 16666 and 16113 in an ACL on the controller 

B. UDP ports 16666 and IP protocol 97 on the firewall 

C. a mobility group with a controller in an isolated network on the firewall 

D. an RF group with a controller in an isolated network on the firewall 

E. UDP ports 1812 and 1645 in an ACL on the controller 

Correct Answer: BC 

 

QUESTION 8

A customer has implemented a wireless network that requires tuning for High Density applications utilizing the RX-SOP
feature. They are experiencing a high noise floor (average of -65 dBm) and expect that to decrease significantly. A
sampling of radios determine that most Access Points have neighbors on the same channel at a power level of -75
dBm. Which value should the customer use to start tuning RX-SOP? 

A. -60 dBm 

B. -65 dBm 

C. -70 dBm 

D. -75 dBm 

E. -80 dBm 

Correct Answer: C 

 

QUESTION 9

After implementing mDNS gateway, a school\\'s network administrator notices that mDNS wireless printers are available
over the whole network. Which feature can the admin use to restrict the printer mDNS advertisements to the AP that the
printer is joined to and adjacent APs? 

A. mDNS-AP 
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B. SSO 

C. LSS 

D. Priority MAC 

Correct Answer: A 

 

 

QUESTION 10

A customer has limited staff to manage a wireless network. The customer wants a solution that requires minimum
hardware. Which type of architecture do you propose? 

A. centralized 

B. distributed 

C. cloud-based 

D. unified 

Correct Answer: C 

 

 

QUESTION 11

An engineer would like to capture NetFlow data on PI. Which resource is required to allow this? 

A. Cisco MSE as NetFlow exporter 

B. Prime Infrastructure 1.0 or later 

C. Cisco NAC as NetFlow exporter 

D. Cisco ISE as NetFlow exporter 

Correct Answer: D 

 

QUESTION 12

When a Vocera badge performs a broadcast call in a properly configured VoWLAN using WLC v7.0, which two choices
indicate how theQoS is marked? (Choose two.) 

A. Upstream marked as Best Effort. 

B. Upstream marked as ToS CS4. 

C. Upstream marked as DSCP EF. 
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D. Downstream marked as DSCP EF. 

E. Downstream marked as Best Effort. 

F. Downstream marked as Silver. 

Correct Answer: CE 
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